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1. SR11000/J2 a7 40K (AIX 5L)
PUBEIES /batch /short SRR Fi)-p RN
£A BHEY | RMAEH (11000-s NQS #imesfalh] | 274 LEER | 774 LR | sr11000-s NQS a5t REH BREE
CGE1N =(MB) =(MB)GE2) (32CPU) ($2:BEFAE) (3cPU) /=K (%)
2007448 574 247 6,503 5,406 8,945.68 6,916,701 — 8573 | 94427673 | 922,938.78 |  944,362.46 89.7 701
58 632 274 6,915 10,134 6,960.01 7,476,493 — 165.57 | 83278459 | 814,087.27 | 832,950.16 88.6 69.2
6A 651 281 9,214 11245 1143371 6,653,725 — 195.63 | 1,161,610.82 | 1,126,228.71 | 1,161,806.45 101.4 79.2
78 657 276 8,887 10122 | 11,320.12 7,074,926 — 172.67 | 1,134,082.56 | 1,087,884.20 | 1,134,255.23 96.4 75.3
8A 633 250 5,991 8,997 8,328.28 7,490,724 — 157.71 |  827,11401 | 791,696.08 | 827,271.72 1012 790
9A 691 232 7,841 7,295 9,704.18 9,382,304 — 163.23 | 1,142,677.30 | 1,030,975.49 | 1,142,840.53 103.0 80.4
108 755 307 8,917 8990 | 1018465 [ 11,474,240 — 177.83 | 1,105,142.63 | 990,756.08 | 1,105,320.46 102.8 80.3
1A 774 300 10,832 9776 | 11,4178 9,262,011 — 274.29 | 124278878 | 1,122,100.69 | 1,243,063.07 108.4 84.7
20064117 836 210 4873 5512 6,324.99 3,580,149 1,511,616 22091 | 43592208 | 41561029 | 436,142.99 76.8 87.3
128 852 213 5,034 6,960 6,326.60 3,780,331 1,281,943 11127 | 35530523 | 337,023.21 355,416.50 66.6 756
2007418 855 213 5,081 5,220 7,056.83 3,949,321 1,251,088 116.19 | 43439475 | 394,93353 |  434,510.94 76.1 82.2
28 862 219 4,962 3,243 5,340.28 4,002,928 1,825,541 6479 | 390,734.87 | 372,654.35 | 390,799.66 733 833
38 864 212 4,847 3,148 4,731.55 4,087,691 1,177,992 62.13 | 333989.29 | 326,047.20 |  334,051.42 71.4 81.2
&5t 85,024 90,536 101,480 1,747.04 | 9,904,901.56 | 9.317,325.59 | 9,906,648.60
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- BEHCIE 2006 FE 11 AR IEEFENTULEE A, 20073 A LIET : StEX= (15 REERHEEE) + 8 x 14 A DRBIEFRE)
+ 2007EE3A N DBIEIL. 3A25HETORIETT . 2007FF4AR LIRE - SHEX= (14 A EERB &) + (16 X 14 A OIREIEFRE)
GED BHERIE. Y VL—T3—ROBSHERERFAE I EERVRET. /—REREE: Y—ER/—FITHTIREBLE, HEX=—FREBH - (Y—EX/—FH) x 100
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